°
E o olS
ﬁE"?_IE‘“ﬁ ﬁE! E-r :'-E, '.'ilso’
E5 MY/MIE olo|x|
v Mo
Rost a3
frei
THE:
EH2 a2l AHICIYA AE 1.4404.
IH AXH, A4 SE.
#EM O]
Mol 224 s Aot
dd,
AHQEA AR ER J82 AF MY, olF,
A LS T7IE X0 M2z 0|8F.
=N
L
A B
_—|
7 —T - ™ %
p
o I | |
3 A &
- A - A-A
ES 29
H2 O8] AHQIA AE!
=2 HS A B D H L T 5t&
N
K0206.100 100 8 M5x10 35 108 10 1000
K0206.120 120 10 M5x10 40 130 10 1000
K0206.250 250 10 M5x10 40 260 10 1000
K0206.350 350 10 M5x10 40 360 10 1000

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 11



